
? 









Find the MISSING  (?)

169 : 10 :: 144 : ?

1. 8
2. 12
3. 18
4. 6



Find the option which should replace (?)

66 * 40 = 3
93 * 24 = 2
82 * 20 = ?

A. 5
B. 2
C. 3
D. 4



Find the option which should replace (?)

Food : Stomach :: Fuel : ?
भोजन : पेट :: ईंधन : ?

A. Plane / विमान
B. Truck / टरक
C. Automobile / ऑटोमोबाइल

D. Engine / इंजन



Find the option which should replace (?)

O512 , M256 , K128 , ___ ,G32 , E16 , C8

A. J32
B. I64
C. I128
D. J64       



Find the ODD (?)

A. LAPTOP / लैपटॉप
B. KEYBOARD / कीबोर्ड
C. COMPUTER / कंपू्यटर

D. TABLET / टैब



Find the ODD (?)

A. 4243
B. 4041                    
C. 4849
D. 5153      



Find the ODD (?)

A. A13Y
B. B08T                    
C. D11R
D. S12E



Find the option which should replace (?)

7 , 9 , 12 , 48 , 172 , ?

A. 890
B. 650
C. 710
D. 910      



Find the option which should replace (?)

22 + 25 = B 
35 + 25 =  F
45 + 44 = ?

A. C
B. M
C. F  
D. H



Find the option which should replace (?)
If 67 = 4; 69 = 5 , then 79 = ? 

(A) 6 
(B) 7 
(C) 8 
(D) 9



Find the Missing one  (?)

60 : 6 :: 75 : ?

(A) 4

(B) 9

(C) 0

(D) 2



Find the option which should replace (?)

GO = 44
HEN = 81
LOVE = ?

A. 315
B. 216
C. 126
D. 612



Find the option which should replace (?)

(A) 61

(B) 50 

(C) 29 
(D) 36

18 24 30

17 28 31

26 48 ?



Find the option which should replace (?)

1 : 2 :: 5 : ?

(A) 50

(B) 60

(C) 70

(D) 100



Find the option which should replace (?)

A. 103
B. 105
C. 109
D. 225



Find the option which should replace (?)
8 + 8 = 14

5 + 5 =  00

7 + 7 = 30

6 + 6 =

(A) 43

(B) 36

(C) 42

(D) 08



Statements :

0% frocks are pants.

All shorts are frocks.

A few jackets are pants.

Conclusions :

I. Not a single pant is short.

II. A good number of jackets are 
not frocks.

कथन: 
0% फ्रॉक पैंट हैं।

सभी शॉटट्स फ्रॉक हैं।

कुछ जैकेट पैंट हैं।

ननष्कर््: 
एकभी पैंट शॉट् नही ीं है।

अच्छी सींख्या में जैकेट फ्रॉक नही ीं

हैं।



Statements :

0% frocks are pants.

All shorts are frocks.

A few jackets are pants.

Conclusions :

I. Not a single pant is short.

II. A good number of jackets are 
not frocks.



Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.

कथन: 
सभी फ्रॉक पैंट हैं।

100% शॉटट्स फ्रॉक हैं।

कुछ जैकेट पैंट हैं।

ननष्कर््: 
सभी पैंट शॉटट्स हैं।

सभी शॉटट्स के जैकेट होने की

सींभावना है।



Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.


